

①

10

$$ab = \frac{1}{\sqrt{r}} \times (-\sqrt{r}) = -1$$

$$ab = \frac{1}{\sqrt{r}} \times (-\sqrt{r}) = -1$$

$$(\sqrt{r}-1)^{-1} = \frac{1}{\sqrt{r}-1} \times \frac{\sqrt{r}+1}{\sqrt{r}+1} = \frac{1}{r} (\sqrt{r}+1) \rightarrow (\sqrt{r}+\sqrt{r}) - r\left(\frac{1}{r}(\sqrt{r}+1)\right) = \sqrt{r}-1$$

$$(1 - \sqrt{3})^{-1} = \frac{1}{1 - \sqrt{3}} \times \frac{1 + \sqrt{3}}{1 + \sqrt{3}} = 1 + \sqrt{3}$$

7.)

0, 0

۳

12

0,8

①

①

①

$$\left(\sqrt[3]{\sqrt{9-r}} - \sqrt[3]{\sqrt{4+r}} \right)^3 \left(\sqrt[3]{\sqrt{4-r}} + \sqrt[3]{\sqrt{4+r}} \right)^3 = t(1-\sqrt{r}) \quad (18)$$

$$\left(\left(\sqrt[3]{\sqrt{4-r}} \right)^3 - \left(\sqrt[3]{\sqrt{4+r}} \right)^3 \right)^3 = \sqrt{4-r} + \sqrt{4+r} - r(4-r)$$

$$\Rightarrow r(1-\sqrt{r}) = 14(1-\sqrt{r}) \rightarrow t = 14$$

$$\sqrt[3]{\sqrt{4-r}} \times \sqrt[3]{\sqrt{4+r}} = (1-r)$$

$$\left(\sqrt[3]{\sqrt{4-r}} - \sqrt[3]{\sqrt{4+r}} \right)^3 = \left(\sqrt{4-r} + \sqrt{4+r} - r\sqrt{(\sqrt{4-r})(\sqrt{4+r})} \right)^3 = (r\sqrt{4-r})^3 = r(4+r-r\sqrt{r})$$

$$\left(\frac{a+\frac{1}{a}}{a} + \sqrt{r} \right)^3 \left(\frac{a+\frac{1}{a}}{a} - \sqrt{r} \right)^3 = r^3$$

$$\left(\left(\frac{a+\frac{1}{a}}{a} \right)^3 - r \right)^3 = \left(\frac{a^3 + \frac{1}{a^3} + r - r}{a^3} \right)^3 = \left(\frac{a^3 + \frac{1}{a^3}}{a^3} \right)^3 = a^3 + \frac{1}{a^3} + r$$

$$\left(a^3 + \frac{1}{a^3} + r - r + r \right)^3 = a^3 + \frac{1}{a^3} + r = r^3$$

$$\frac{a^3 + \frac{1}{a^3} + r}{a^3} = r^3 \Rightarrow a^3 + \frac{1}{a^3} + r = r^3$$

$$4 - 4\sqrt{r} + \frac{1}{4 - 4\sqrt{r}} = 14 = r^3 = r^3 \rightarrow t = 14$$

$$r = r^3 \Rightarrow t = 14$$

$$\left(\frac{1}{r} \right)^{-\frac{r}{r}} = \sqrt[r]{r^r} = r \sqrt[r]{r}$$

$$\sqrt[r]{14} = r \sqrt[r]{r}$$

$$\frac{r}{r^r} \times r^{\frac{r}{r}} \times r^{\frac{r}{r}} = r^{\frac{r}{r}} \times r^{\frac{r}{r}} \times r^{\frac{r}{r}} = r^{\frac{r}{r} + \frac{r}{r} + \frac{r}{r}} = r^{\frac{3r}{r}} = r^3$$

$$A = \left(\frac{r^r \times r^{\frac{r}{r}}}{r^{\frac{r}{r}}} \right)^{\frac{1}{r}} \times r^{\frac{r}{r}} = r^{\frac{r}{r}} \times r^{\frac{r}{r}} = r$$

$$\rightarrow (rA)^{\frac{1}{r}} = 1^{\frac{1}{r}} = \frac{1}{\sqrt[r]{r}} = \frac{1}{r}$$

$$\left(r^{\frac{r}{r}} \frac{1}{\sqrt[r]{r}} \right)^{\frac{1}{r}} = \frac{1}{r}$$

$$\sqrt[r]{a} = r \sqrt[r]{a} \times \sqrt[r]{a}$$

$$\sqrt[r]{a} = r \sqrt[r]{a} \times \sqrt[r]{a} \rightarrow \sqrt[r]{a} = r \sqrt[r]{a^2}$$

$$\rightarrow a^{\frac{1}{r}} = \frac{1}{r} \rightarrow a = \frac{1}{r^r} = \frac{1}{r^3}$$

$$a^{\frac{1}{r}} = \left(r^{\frac{r}{r}} \right)^{\frac{1}{r}} \times a^{\frac{1}{r}} = r^{\frac{1}{r}} \times a^{\frac{1}{r}}$$

$$\rightarrow \left(\frac{1}{a} - r \right) = r\sqrt{r} - r = r(\sqrt{r} - 1) \rightarrow \frac{r(\sqrt{r} - 1)}{\sqrt{r} + 1} \times \frac{\sqrt{r} - 1}{\sqrt{r} - 1} = \frac{r(1 + r - r\sqrt{r})}{r - 1} = \frac{r(1 - r\sqrt{r})}{r} =$$

$$r(1 - \sqrt{r}) = 4 - r\sqrt{r}$$

$$\left(\sqrt{u+a} + \sqrt{u-r} \right) \left(\sqrt{u+a} - \sqrt{u-r} \right) = (u+a) - (u-r) = a+r$$

$$\rightarrow \frac{a}{r} + r = \frac{a+r}{r}$$

$$\sqrt{u+a} + \sqrt{u-r} = \frac{a}{r} + r \rightarrow \sqrt{u+a} + \sqrt{u-r} - r = \frac{a}{r} + r - r = \frac{a}{r}$$